6541 First Moments

1. The region bounded by the curve y = 5z — 22 and the z axis is covered
by a lamina of constant density p. Find M,, the first moment of this lamina
about the z axis. Find M,, the first moment of this lamina about the y
axis. Find the mass of the lamina. Find the center of mass. Find the

moment about the line y = —3/2. Y
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2. The region bounded by the curves y = V222 and y = 4+/z is covered by
a lamina of constant density p. Find M, and M, for this lamina. Find the
mass of the lamina. Find the center of mass. Find the first moment about

the line z = —5. AY
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6542 Variables Separable

1. Solve the initial value problem = 2y + 6 and y(0) = 3. Solve for y.
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2. Solve the initial value problem dc = 3 +5) dy(l)=2
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3. The family of curves y = cz? is the general solution to the differential
equation 3” = 2y Sketch the four members of this family correspondmg
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